(‘%éy ¢ r

2 a Obta@ﬁe% s

e & . X
et series expansion of #

—X,05x527|:. e@@

ﬁx i T

b. Obtain half range sine series of f{x) = x* in the i
c. Obtain the Fourier seri - the following
harmonic. N .

compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

3
§
B
.
g
g
] (22—1)(§_.§;§j}
5 W)
i N i * OR
3 4 a. Find the Fourier Cosine ‘transform of
° Y
z 4x, O<x%<l
5 fix) = <4 -x, k<:$<4.
2. -
E 0, =

b. Find the Z — fah3form of i) sinhn® ii)- o’

10of3

£

E 1 a ,7) and hence deduce
- 2 <

P s

B b. Obtain half range cos

E X,

K fix) =

Il n—X,

higher than first

w 2
nd hence deduce I ﬂz—xdx = % .
G X

c. Solve thg__ difference equation : Um2—5Un +6Us=2 , Upg=3 , Ui =T7.

1SMAT31

(08 Marks)

(08 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(05 Marks)

(06 Marks)
(05 Marks)



Module-3

oht line that best fits the following data :

15120 25

(8) = 496 , {10)=980 and hence fin
Use Newton’s.c Qmﬁed difference fi

11 “;‘g, 17

1452 12366 | 5202

»
™ rule, taking 7 ordinates.

90 | 95 | 100

5674

6362 | 7088 | 7854

b. Apply Lagrange fonnu,la%ﬁnd root of the equation f{x) = 0, given
f(30) = -30 ,f(34) = -IWSS) 3 and f(42) = 18.

c.. Evaluate _[ V1-8x’ dx, taking 6 — equal strips by applying Weddle’s rule.
0

20of 3

15SMAT231

(05 Marks)

s x = 0 near x = 7, corrected

(05 Marks)

(06 Marks)

(05 Marks)

ng;y out 3—iterations.

(05 Marks)

, f{(4) =56 , f{6) =204,

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)




10

2
_ Find the extremal of the functional ]?/
0

in a plane. : (06 Marks)

. Verify Stoke’s theoren S is the upper half of the sphere
X +y +7=1and C (05 Marks)

A heavy chain two fixed points. Show that the shape
(05 Marks)

Module-5
If B= (3x% + 6y)i — 14yzj + 20xz’k , evalu

t from (0, 0, 0) to (1, 1, 1) along the

curve givenby x=t,y= t.z= v (06 Marks)

) =0. (05Marks)

Prove that geodesics on a plane are (05 Marks)

Find the area between the p: with the help of Green’s theorem

of the chain is 2




